ENERGY FLOW IN A HARDWOOD FOREST (kl/m?)
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3. What percent of the biomass in the forest community represented above is tied up in the shrub layer? Give your
answer to the nearest whole number.
CARBON FLOW IN A GRASSLAND ECOSYSTEM
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6. How much carbon (in g/m?) is released into the atmosphere as a resuit of the metabolic activity of herbivores?
Give your answer to the nearest whole number.

COMPARISON OF PREY AND PREDATOR POPULATIONS
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5. Use the graph above to caleulate the lag time in months between the change in the densities of the prey and the
predator populations. Give your answer to the nearest tenth of a month.
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